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Fourier Transform. The Fourier Transform 𝑓 = F (𝑓 ) and its inverse 𝑓 = F −1(𝑓 ) are
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Laplace Transform. The Laplace transform 𝐹 (𝑠) of 𝑓 (𝑡), 𝑡 ≥ 0, reads
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List of Fourier Transforms.
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Trigonometric identities.

• cos(𝛼 + 𝛽) = cos𝛼 cos 𝛽 − sin𝛼 sin 𝛽

• sin(𝛼 + 𝛽) = sin𝛼 cos 𝛽 + cos𝛼 sin 𝛽

• cos(2𝛼) = 2 cos2(𝛼) − 1 = 1 − 2 sin2(𝛼)
• ei𝛼 = cos𝛼 + i sin𝛼

• 2 sin𝛼 cos 𝛽 = sin(𝛼 + 𝛽) + sin(𝛼 − 𝛽)
• 2 cos𝛼 sin 𝛽 = sin(𝛼 + 𝛽) − sin(𝛼 − 𝛽)
• 2 cos𝛼 cos 𝛽 = cos(𝛼 − 𝛽) + cos(𝛼 + 𝛽)
• 2 sin𝛼 sin 𝛽 = cos(𝛼 − 𝛽) − cos(𝛼 + 𝛽)
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Order conditions for Runge-Kutta methods.
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